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FIITJEE ADMISSION TEST
Class X
SCIENCE & MATHS
	Time: 90 minutes
	
	
	Maximum Marks:  135


Instructions:



1.
Attempt All the questions. 

2.
Answers have to be marked on the OMR sheet.

3.
The Question Paper contains blank spaces for your rough work. No additional sheets 


will be provided for rough work.

4.
Blank papers, clip boards, log tables, slide rule, calculator, cellular phones, pagers and 


electronic devices, in any form, are not allowed.


5.
Write your Name and Registration No. in the space provided at the bottom of this sheet.
6.
The questions paper consists of 3 parts: 



Part -1 ……….. Physics (10 questions) 


Part -2 ……….. Chemistry and Biology (15 questions)


Part -3 ……….. Mathematics (20 questions)


7.
Each question carries +3 marks for correct answer and (1 mark for wrong answer.
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Physics
PART – 1
Straight Objective Type

This section contains 10 multiple choice questions numbered 1 to 10. Each question has 4 choices (A), (B), (C) and (D), out of which ONLY ONE is correct. 

1.
A man goes 1m due north, 2m due east and then 3m due south. What is the magnitude of displacement by him?


(A) 1m 
(B) 
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m 


(C) 2m 
(D) 2
[image: image2.wmf]2

m 

2.
An insect flies from the corner A to the corner B of a cubic room in 5s, where A and B are diagonally opposite corners.  The side of the room is 5m.  The speed of the insect is 


(A) 
[image: image3.wmf]2

m/s
(B) 
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m/s


(C) 2
[image: image5.wmf]2

m/s
(D) 2
[image: image6.wmf]3

 m/s

3.
During morning jogging, I walk 10 turns of a rectangular ground (30 m ( 15 m) in 15 minutes.  My speed is 


(A) 1 m/s
(B) 2 m/s


(C) 3 m/s
(D) 5 m/s

	4.
The velocity-time graph of a particle is shown below.  The acceleration of the particle is highest at 


(A) A
(B) B


(C) C
(D) D
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5.
A body is falling freely near the surface of earth.  Its acceleration is 


(A) zero
(B) less than 9.8 m/s2 


(C) 9.8 m/s2
(D) greater than 9.8 m/s2 
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6.
A real object is placed before a convex lens. The image formed by it is virtual, erect and magnified. The object is placed between


(A)
2f and infinity
(B)
2f and 3f


(C)
f and 2f
(D)
lens’ optical centre and f

7.
A person traveling on a straight line moves with a uniform velocity v​1 for some time and with uniform velocity v2 for the next equal time. The average velocity v is given by


(A)
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(B)
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(C)
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(D)
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8.
A body of mass m is thrown vertically upwards with a velocity of 2v. Another body of mass 2m is thrown upward with a velocity v, the ratio of the times for the two bodies to reach their maximum height is


(A)
2 : 1
(B)
1 : 2


(C)
4 : 1
(D)
1 : 4

	9.
A displacement time graph of particle is shown in figure. The particle must necessarily have


(A) uniform velocity 
(B) uniform acceleration 


(C) variable velocity
(D) None
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10.
Mass of a body will 


(A) be different on different planets 
(B) depend on mass and radius of planet  


(C) be constant everywhere
(D)None 
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Chemistry & Biology
PART – 2
Straight Objective Type

This section contains 15 multiple choice questions numbered 1 to 15. Each question has 4 choices (A), (B), (C) and (D), out of which ONLY ONE is correct. 

1.
The smell of hot sizzling food from several metres away can be explained by


(A)
fluidity
(B)
diffusion


(C)
sublimation
(D)
evaporation

2.
The movement of pollen grains in water was observed by


(A)
Lavoisier
(B)
Dalton


(C)
Robert Brown
(D)
Bohr

3.
Substance which can undergo sublimation are


(A)
iodine
(B)
camphor


(C)
naphthalene
(D)
all

4.
Humidity of air tells us


(A)
the degree of dampness of air
(B)
the amount of moisture content of air


(C)
the amount of water vapour in air
(D)
all the above

5.
The property of metal to be drawn into wires is called


(A)
Malleability
(B)
Ductility


(C)
Sonorosity
(D)
Lustrous

6.
Two immiscible liquids can be separated by


(A)
separating funnel
(B)
distillation


(C)
filtration
(D)
evaporation

7.
Melting of ice is


(A)
physical change
(B)
chemical change


(C)
both
(D)
none

8.
We can get pure salt from sea water by the process of


(A)
evaporation
(B)
filtration


(C)
crystallization
(D)
distillation
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9.
Which property is not shown by colloids?


(A) coagulation
(B) Tyndall effect


(C) cataphoresis 
(D) homogenity

10.
Which is not a compound?


(A) graphite 
(B) silica


(C) rust 
(D) sugar

<
11.
Chromosomes are made up of


(A)
DNA and protein
(B)
DNA only


(C)
DNA and RNA
(D)
RNA and protein

12.
Karyotype is the


(A)
systematic arrangement of chromosomes
(B)
type of a nucleus


(C)
type of chromosomes
(D)
special type of gene

13.
Adipose tissues stores


(A)
protein
(B)
carbohydrates


(C)
fat droplets
(D)
all of these

14.
Heart muscles are


(A)
visceral
(B)
smooth


(C)
skeletal
(D)
cardiac

15.
The erythrocytes of mammals are enucleated, except in


(A)
monkey
(B)
camel


(C)
rabbit
(D)
dog
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Mathematics
PART – 3
Straight Objective Type

This section contains 20 multiple choice questions numbered 1 to 20. Each question has 4 choices (A), (B), (C) and (D), out of which ONLY ONE is correct. 

1.
The value of 
[image: image13.wmf](

)

2/3

0.000027

 is


(A) (.009) 
(B) (.0009)


(C) (.003)
(D) (.03)

2.
If  f(x) = px2 + qx + p is divided by (x – q), p, q ( 0,  remainder is ‘p’ , then p is equal to


(A) q2 





(B) – 1 


(C) 0 





(D) p + 1 

3.
If ‘X’ stands for a (x + y) and ‘Y’ stands for b (x ( y), then the value of 
[image: image14.wmf]XY

ab

-

 is equal to 

(A) 2x 
(B) 2y

(C) 0
(D) cannot be determined

4.
12x2 ( x ( 6 is equal to 


(A) (x ( 2) (12x + 3) 
(B) (2x + 3) (6x ( 3) 

(C) (3x + 2) (4x ( 3)
(D) (3x ( 2) (4x + 3) 

5.
If 2x+3. 42x(5 = 23x+7, then the value of x is 


(A) 3
(B) 4


(C) 6
(D) 7

Space for Rough Work 
<
6.
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 is equal to 


(A) 0
(B) 1


(C) x + 2
(D) none of these 

7.
The value of x which will make 2 (x + 3) + 3 (x + 6) = 54 is 


(A) 5
(B) 6


(C) 4
(D) 3

8.
If a = 9, b = 16, the value of 
[image: image16.wmf]+
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 is equal to 


(A) 20
(B) 25


(C) 45
(D) none of these 

9.
The radius of a circle with area 1.54 cm2 is 


(A) 0.7 cm
(B) 3½ cm


(C) 49 cm
(D) 14 cm

10.
How many 6m cubes can be cut from a cuboid measuring 18 m ( 15 m ( 8 m?


(A) 360
(B) 10


(C) 60
(D) none of these 

11.
The LCM of 23, 52 and 2 is 


(A) 10 
(B) 8


(C) 200
(D) none of these 

12.
The side of a right angle isosceles triangle is 2a cm. Its hypotenuse is 


(A) 
[image: image17.wmf]2a

cm
(B) 
[image: image18.wmf]22a

cm


(C) 
[image: image19.wmf]2

22a

cm
(D) 
[image: image20.wmf]a2

cm 

	13.
From the given figure, the area of the shaded portion is equal to (given OC = 13, AC = 5)

(A) 169( + 60
(B) 169( ( 60


(C) 169( + 30
(D) 169( ( 30
	
[image: image21.emf] 
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	14.
In the given figure (y is equal to


(A) 10(



(B)  5(

(C)  15( 


(D)  none of these 
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	15.
In the isosceles (ABC, AB = BC; BO and CO are the bisectors of (B and (C respectively. (BOC is equal to 

(A) 900 
(B) 1150

(C) 1200 
(D) 1000 
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16. 
If the diagonals of a quadrilateral bisect each other, then it must be a 


(A) trapezium 
(B) rectangle 


(C) rhombus
(D) parallelogram

17.
The GCD of 12, 16, 48 is


(A) 4
(B) 6


(C) 16
(D) 12

18.
If A : B = 3 : 4 and B : C = 5 : 6, then A : C is equal to 


(A) 1 : 2
(B) 2 : 5


(C) 5 : 8
(D) 7 : 11

19.
If I sell a horse for Rs. 250 gaining 25%, the cost price is 


(A) Rs. 225
(B) Rs. 200


(C) Rs. 187.50
(D) none of these 

20.
If I buy a horse for Rs. 250 and sell it for Rs. 270, my gain percentage is 


(A) 5
(B) 10


(C) 8
(D) 15
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FIITJEE ADMISSION TEST
Class- X
SCIENCE & MATHS
ANSWERS

PART - 1 (PHYSICS)


1.
D
2.
B
3.
A
4.
C
5.
C
6.
D
7.
A
8.
A
9.
C
10.
C

PART - 2 (CHEMISTRY & BIOLOGY)
1.
B
2.
C
3.
D
4.
D
5.
B
6.
C
7.
B
8.
C

9.
D
10.
A
11.
B
12.
A
13.
C
14.
D
15.
B

PART - 3 (MATHS)

1.
B
2.
B
3.
B
4.
C

5.
D
6.
B
7.
B
8.
A

9.
A
10.
B
11.
C
12.
C

13.
B
14.
A
15.
B
16.
D

17.
A
18.
C
19.
B
20.
C
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